Notes on Number Theory and Discrete Mathematics Print ISSN 1310–5132, Online ISSN 2367–8275 Vol. 26, 2020, No. 1, 209–215 DOI: 10.7546/nntdm.2020.26.1.209-215

Identities on the product of Jacobsthal-like and Jacobsthal–Lucas numbers

Apisit Pakapongpun

Department of Mathematics, Faculty of Science Burapha University, Chon buri 20131, Thailand e-mail: apisit.buu@gmail.com

Received: 21 July 2019 Revised: 20 December 2019 Accepted: 30 December 2019

Abstract: The purpose of this paper is to find the identities of Jacobsthal-like and Jacobsthal– Lucas numbers by using Binet's formula.

Keywords: Fibonacci number, Jacobsthal number, Fibonacci-like number, Jacobsthal–Lucas number, Jacobsthal-like number.

2010 Mathematics Subject Classification: 11B39.

1 Introduction

The Fibonacci numbers [6] F_n are the terms of the sequence $\{0, 1, 1, 2, 3, 5, \dots\}$ wherein each term is the sum of the two previous terms beginning with the initial values $F_0 = 0$ and $F_1 = 1$.

The well-known Fibonacci sequence is defined as $F_k = F_{k-1} + F_{k-2}$ for $k \ge 2$ where $F_0 = 0, F_1 = 1$.

In a similar way, Lucas sequence is defined as $L_k = L_{k-1} + L_{k-2}$ for $k \ge 2$ where $L_0 = 2, L_1 = 1$.

Generalized Fibonacci sequence [4] is defined as $F_k = pF_{k-1} + qF_{k-2}, k \ge 2$ with initial condition $F_0 = a, F_1 = b$ where p, q are positive integers and a, b are nonnegative integers.

The Jacobsthal sequence [4] is defined by the recurrence relation

$$J_k = J_{k-1} + 2J_{k-2}, k \ge 2$$

with $J_0 = 0, J_1 = 1$.

Its Binet's formula is defined by

$$J_k = \frac{R_1^k - R_2^k}{R_1 - R_2}$$

The Jacobsthal–Lucas sequence [5] is defined by the recurrence relation:

$$j_k = j_{k-1} + 2j_{k-2}, k \ge 2$$

with initial condition $j_0 = 2, j_1 = 1$.

Its Binet's formula is defined by

$$j_k = R_1^k + R_2^k.$$

Where $R_1 = 2$ and $R_2 = -1$ are the roots of the characteristic equation $x^2 - x - 2 = 0$.

In 2011–2012, Krassimir T. Atanassov studied and generalized about Jacobsthal number see more detail in [1, 2].

In 2011, Bijendra Singh, Omprakash Sikhwal, and Shikha Bhatnagar have studied some identities for even and odd Fibonacci-like and Lucas numbers [3].

In 2013, Yashwant K. Panwar, Bijendra Singh, and V. K. Gupta have presented some identities of common factors of generalized Fibonacci, Jacobsthal and Jacobsthal–Lucas numbers by using Binet's formula derivation [4].

In 2014, Bijendra Singh, Kiran Sisodiya, and Farooq Ahmad have studied the products of *k*-Fibonacci numbers and *k*-Lucas numbers see more details in [6].

In 2014, Deepika Jhala, G. P. S. Rathore, and Bijendra Singh have studied some identities involving common factors of *k*-Fibonacci and *k*-Lucas numbers see more details in [7].

In this paper, we give a new definition by using the recurrence relation of Jacobsthal sequence [4] and with the initial condition of Fibonacci-like sequence [4]. It is called Jacobsthal-like. We also provide generalized identities on the product of Jacobsthal-like and Jacobsthal–Lucas numbers by using Binet's formula for derivation.

2 Main results

Definition 2.1. The Jacobsthal-like number is defined by the recurrence relation:

$$V_k = V_{k-1} + 2V_{k-2}, k \ge 2$$

with initial condition $V_0 = 2, V_1 = 2$.

The Binet's formula is defined by

$$V_k = 2\frac{R_1^{k+1} - R_2^{k+1}}{R_1 - R_2},$$

where $R_1 = 2$ and $R_2 = -1$ are the roots of the characteristic equation $x^2 - x - 2 = 0$.

Definition 2.2. The Jacobsthal–Lucas number [5] is defined by the recurrence relation:

$$j_k = j_{k-1} + 2j_{k-2}, k \ge 2$$

with initial condition $j_0 = 2, j_1 = 1$.

The Binet's formula is defined by

$$j_k = R_1^k + R_2^k,$$

where $R_1 = 2$ and $R_2 = -1$ are the roots of the characteristic equation $x^2 - x - 2 = 0$.

Next, we present some identities on the product of Jacobsthal-like and Jacobsthal–Lucas numbers by using Binet's formula for derivation.

Theorem 2.3.

$$V_{nk+p}j_{mk+q} = \begin{cases} V_{(n+m)k+p+q} + (-2)^{mk+q}V_{(n-m)k+p-q}, n \ge m > 0 \text{ and } p \ge q > 0, \\ V_{(n+m)k+p+q} - (-2)^{nk+p+1}V_{(m-n)k+q-p-2}, m \ge n > 0 \text{ and } q \ge p+2 > 0. \end{cases}$$
(1)

where m, n, p and q are nonnegative integers.

Proof. Case 1. If $n \ge m > 0$ and $p \ge q > 0$, then

$$\begin{split} V_{nk+p}j_{mk+q} &= 2\Big(\frac{R_1^{nk+p+1} - R_2^{nk+p+1}}{R_1 - R_2}\Big)\Big(R_1^{mk+q} + R_2^{mk+q}\Big) \\ &= 2\Big(\frac{R_1^{(n+m)k+p+q+1} + (R_1^{nk+p+1}R_2^{mk+q}) - (R_2^{nk+p+1}R_1^{mk+q}) - R_2^{(n+m)k+p+q+1}}{R_1 - R_2}\Big) \\ &= 2\Big(\frac{R_1^{(n+m)k+p+q+1} - R_2^{(n+m)k+p+q+1} + (R_1R_2)^{mk+q}(R_1^{(n-m)k+p-q+1} - R_2^{(n-m)k+p-q+1})}{R_1 - R_2}\Big) \\ &= 2\Big(\frac{R_1^{(n+m)k+p+q+1} - R_2^{(n+m)k+p+q+1}}{R_1 - R_2}\Big) + (-2)^{mk+q}2\Big(\frac{R_1^{(n-m)k+p-q+1} - R_2^{(n-m)k+p-q+1}}{R_1 - R_2}\Big) \\ &= V_{(n+m)k+p+q} + (-2)^{mk+q}V_{(n-m)k+p-q}. \end{split}$$

<u>Case 2.</u> If $m \ge n > 0$ and $q \ge p + 2 > 0$, then

$$\begin{aligned} V_{nk+p}j_{mk+q} &= 2\Big(\frac{R_1^{nk+p+1} - R_2^{nk+p+1}}{R_1 - R_2}\Big)\Big(R_1^{mk+q} + R_2^{mk+q}\Big) \\ &= 2\Big(\frac{R_1^{(n+m)k+p+q+1} + (R_1^{nk+p+1}R_2^{mk+q}) - (R_2^{nk+p+1}R_1^{mk+q}) - R_2^{(n+m)k+p+q+1}}{R_1 - R_2}\Big) \\ &= 2\Big(\frac{R_1^{(n+m)k+p+q+1} - R_2^{(n+m)k+p+q+1} - (R_1R_2)^{nk+p+1}(R_1^{(m-n)k+q-p-1} - R_2^{(m-n)k+q-p-1}}{R_1 - R_2}\Big) \\ &= 2\Big(\frac{R_1^{(n+m)k+p+q+1} - R_2^{(n+m)k+p+q+1}}{R_1 - R_2}\Big) - (-2)^{nk+p+1}2\Big(\frac{R_1^{(m-n)k+q-p-1} - R_2^{(m-n)k+q-p-1}}{R_1 - R_2}\Big) \\ &= V_{(n+m)k+p+q} - (-2)^{nk+p+1}V_{(m-n)k+q-p-2}. \end{aligned}$$

Corollary 2.3.1. For different values of n, m, p and q(1), it can be expressed:

- If n = 2, m = 1, p = 3 and q = 1, then $V_{2k+3}j_{k+1} = V_{3k+4} + (-2)^{k+1}V_{k+2}$.
- If n = 3, m = 3, p = 2 and q = 2, then $V_{3k+2}j_{3k+2} = V_{6k+4} + 2(-2)^{3k+2}$.
- If n = 2, m = 4, p = 0 and q = 2, then $V_{2k}j_{4k+2} = V_{6k+2} (-2)^{2k+1}V_{2k}$.

Theorem 2.4. Let m, n, p and q be nonnegative integers, then

$$\left(\frac{R_1 - R_2}{2}\right)^2 V_{nk+p} V_{mk+q} = j_{(n+m)k+p+q+2} - (-2)^{mk+q+1} j_{(n-m)k+p-q} \tag{2}$$

such that $n \ge m > 0$ and $p \ge q > 0$.

Proof.

$$\left(\frac{R_1 - R_2}{2}\right)^2 V_{nk+p} V_{mk+q}$$

$$= \left(\frac{R_1 - R_2}{2}\right)^2 2 \left(\frac{R_1^{nk+p+1} - R_2^{nk+p+1}}{R_1 - R_2}\right) 2 \left(\frac{R_1^{mk+q+1} - R_2^{mk+q+1}}{R_1 - R_2}\right)$$

$$= R_1^{(n+m)k+p+q+2} - R_1^{nk+p+1} R_2^{mk+q+1} - R_2^{nk+p+1} R_1^{mk+q+1} + R_2^{(n+m)k+p+q+2}$$

$$= \left(R_1^{(n+m)k+p+q+2} + R_2^{(n+m)k+p+q+2}\right) - \left(R_1 R_2\right)^{mk+q+1} \left(R_1^{(n-m)k+p-q} + R_2^{(n-m)k+p-q}\right)$$

$$= j_{(n+m)k+p+q+2} - \left(-2\right)^{mk+q+1} j_{(n-m)k+p-q}.$$

Corollary 2.4.1. For different values of n, m, p and q (2), it can be expressed:

• If
$$n = 2, m = 1, p = 3$$
 and $q = 1$, then $\left(\frac{R_1 - R_2}{2}\right)^2 V_{2k+3} V_{k+1} = j_{3k+6} - (-2)^{k+2} j_{k+2}$

• If
$$n = 3, m = 3, p = 2$$
 and $q = 2$, then $\left(\frac{R_1 - R_2}{2}\right)^2 V_{3k+2} V_{3k+2} = j_{6k+6} - 2(-2)^{3k+3}$.

• If
$$n = 2, m = 4, p = 0$$
 and $q = 2$, then $\left(\frac{R_1 - R_2}{2}\right)^2 V_{2k} V_{4k+2} = j_{6k+4} - (-2)^{2k+1} j_{2k+2}$.

Theorem 2.5. Let m, n, p and q are nonnegative integers, then

$$j_{nk+p}j_{mk+q} = j_{(n+m)k+p+q} + (-2)^{mk+q}j_{(n-m)k+p-q}$$
(3)

such that $n \ge m > 0$ and $p \ge q > 0$.

Proof.

$$j_{nk+p}j_{mk+q} = \left(R_1^{nk+p} + R_2^{nk+p}\right) \left(R_1^{mk+q} + R_2^{mk+q}\right)$$

= $\left(R_1^{(n+m)k+p+q} + R_1^{nk+p}R_2^{mk+q} + R_2^{nk+p}R_1^{mk+q} + R_2^{(n+m)k+p+q}\right)$
= $\left(R_1^{(n+m)k+p+q} + R_2^{(n+m)k+p+q}\right) + \left(R_1R_2\right)^{mk+q} \left(R_1^{(n-m)k+p-q} + R_2^{(n-m)k+p-q}\right)$
= $j_{(n+m)k+p+q} + (-2)^{mk+q}j_{(n-m)k+p-q}$.

Corollary 2.5.1. For different values of n, m, p and q (3), it can be expressed

- If n = 2, m = 1, p = 3 and q = 1, then $j_{2k+3}j_{k+1} = j_{3k+4} + (-2)^{k+1}j_{k+2}$.
- If n = 3, m = 3, p = 2 and q = 2, then $j_{3k+2}j_{3k+2} = j_{6k+4} + 2(-2)^{3k+2}$.
- If n = 2, m = 4, p = 0 and q = 2, then $j_{2k}j_{4k+2} = j_{6k+2} + (-2)^{2k}j_{2k+2}$.

Theorem 2.6. Let m, n, p, q, r and s are nonnegative integers, then

$$V_{nk+p}j_{mk+q}j_{sk+r} = V_{(n+m+s)k+p+q+r} + (-2)^{sk+r}V_{(n+m-s)k+p+q-r} + (-2)^{mk+q}V_{(n+s-m)k+p+r-q} + (-2)^{(m+s)k+q+r}V_{(n-m-s)k+p-q-r}$$
(4)

such that $n \ge m + s > 0$ and $p \ge q + r > 0$.

Proof.

$$=V_{(n+m+s)k+p+q+r} + (-2)^{sk+r}V_{(n+m-s)k+p+q-r} + (-2)^{mk+q}V_{(n+s-m)k+p+r-q} + (-2)^{(m+s)k+q+r}V_{(n-m-s)k+p-q-r}.$$

Corollary 2.6.1. For different values of n, m, s, p, q and r(4) can be expressed

- If n = 3, m = 1, s = 1, p = 3, q = 2 and r = 1, then $V_{3k+3}j_{k+2}j_{k+1} = V_{5k+6} + (-2)^{k+1}V_{3k+4} + (-2)^{k+2}V_{3k+2} + (-2)^{2k+3}V_k.$
- If n = 3, m = 1, s = 2, p = 2, q = 1 and r = 1, then

$$V_{3k+2}j_{k+1}j_{2k+1} = V_{6k+4} + (-2)^{2k+1}V_{2k+2} + (-2)^{k+1}V_{4k+2} + 2(-2)^{3k+2}.$$

Theorem 2.7. Let m, n, p, q, r and s are nonnegative integers,

$$\left(\frac{R_1 - R_2}{2}\right)^2 V_{nk+p} V_{mk+q} j_{sk+r} = j_{(n+m+s)k+p+q+r+2} - (-2)^{mk+q+1} j_{(n+s-m)k+p+r-q} - (-2)^{nk+p+1} j_{(m+s-n)k+q+r-p} + (-2)^{(n+m)k+p+q+2} j_{(s-n-m)k+r-p-q-2}$$
(5)

such that $s \ge n + m > 0$ and $r \ge p + q + 2 > 0$.

Proof.

$$\begin{split} & (\frac{R_1 - R_2}{2})^2 V_{nk+p} V_{mk+q} j_{sk+r} \\ & = (\frac{R_1 - R_2}{2})^2 2 (\frac{R_1^{nk+p+1} - R_2^{nk+p+1}}{R_1 - R_2}) 2 (\frac{R_1^{mk+q+1} - R_2^{mk+q+1}}{R_1 - R_2}) (R_1^{sk+r} + R_2^{sk+r}) \\ & = (R_1^{nk+p+1} - R_2^{nk+p+1}) (R_1^{mk+q+1} - R_2^{nk+q+1}) (R_1^{sk+r} + R_2^{sk+r}) \\ & = R_1^{(n+m+s)k+p+q+r+2} - R_1^{(n+s)k+p+r+1} R_2^{mk+q+1} - R_2^{nk+p+1} R_1^{(m+s)k+q+r+1} \\ & + R_2^{(n+m)k+p+q+2} R_1^{sk+r} + R_1^{(n+m)k+p+q+2} R_2^{sk+r} - R_1^{nk+p+1} R_2^{(m+s)k+q+r+1} \\ & - R_2^{(n+s)k+p+r+1} R_1^{mk+q+1} + R_2^{(n+m+s)k+p+q+r+2} \\ & = (R_1^{(n+m+s)k+p+q+r+2} + R_2^{(n+m+s)k+p+q+r+2}) \\ & - (R_1^{(n+s)k+p+r+1} R_1^{mk+q+1} + R_2^{(n+s)k+p+r+1} R_1^{mk+q+1}) \\ & - (R_2^{nk+p+1} R_1^{(m+s)k+q+r+1} + R_1^{nk+p+1} R_2^{(m+s)k+q+r+1}) \\ & + (R_2^{(n+m)k+p+q+2} R_1^{sk+r} + R_1^{(n+m)k+p+q+2} R_2^{sk+r}) \\ & = (R_1^{(n+m+s)k+p+q+r+2} + R_2^{(n+m+s)k+p+q+r+2} R_2^{sk+r}) \\ & = (R_1^{(n+m+s)k+p+q+r+2} + R_2^{(n+m+s)k+p+q+r+2} R_2^{sk+r}) \\ & = (R_1^{(n+m+s)k+p+q+r+2} + R_2^{(n+m+s)k+p+q+r+2} R_2^{sk+r}) \\ & = (R_1^{(n+m+s)k+p+q+r+2} + (R_1^{(n+s-m)k+p+r-q} + R_2^{(m+s-m)k+p+r-q}) \\ & - (R_1R_2)^{nk+p+1} (R_1^{(m+s-m)k+p+r-q} + R_2^{(m+s-m)k+p+r-q}) \\ & + (R_1R_2)^{(n+m)k+p+q+2} (R_1^{(s-n-m)k+r-p-q-2} + R_2^{(s-n-m)k+r-p-q-2}) \\ & = j_{(n+m+s)k+p+q+r+2} - (-2)^{mk+q+1} j_{(n+s-m)k+p+r-q} - (-2)^{nk+p+1} j_{(m+s-n)k+q+r-p} \\ & + (-2)^{(n+m)k+p+q+2} j_{(s-n-m)k+r-p-q-2}. \\ \end{matrix}$$

Corollary 2.7.1. For different values of n, m, s, p, q and r. (5), it can be expressed:

• If n = 1, m = 2, s = 3, p = 1, q = 1 and r = 4, then $\left(\frac{R_1 - R_2}{2}\right)^2 V_{k+1} V_{2k+1} j_{3k+4} = j_{6k+8} - (-2)^{2k+2} j_{2k+4} - (-2)^{k+2} j_{4k+4} + 2(-2)^{3k+4}$. • If n = 1, m = 1, s = 3, p = 2, q = 1 and r = 5, then

$$\left(\frac{R_1 - R_2}{2}\right)^2 V_{k+2} V_{k+1} j_{3k+5} = j_{5k+10} - (-2)^{k+2} j_{3k+6} - (-2)^{k+3} j_{3k+4} + (-2)^{2k+5} j_k.$$

Acknowledgements

I would like to give a thanks to Mr. Jatupat Mekparyup for helping submission process and this work is supported by Faculty of Science, Burapha University, Thailand.

References

- [1] Atanassov, K. T. (2011). Remark on Jacobsthal numbers. Part 2. *Notes on Number Theory and Discrete Mathematics*, 17 (2), 37–39.
- [2] Atanassov, K. T. (2012). Short remark on Jacobsthal numbers. *Notes on Number Theory and Discrete Mathematics*, 18 (2), 63–64.
- [3] Singh, B., Sikhwal, O., & Bhatnagar, S. (2011). Some Identities for Even and Odd Fibonacci-like and Lucas Numbers, *Proceedings of National Workshop-Cum-Conference* on Recent Trends in Mathematics and Computing (RTMC) 2011, published in International Journal of Computer Applications, 4–6.
- [4] Yashwant, K., Singh, B., & Gupta, V. K. (2013). Identities of Common Factors of Generalized Fibonacci, Jacobsthal and Jacobsthal–Lucas Numbers, *Applied Mathematics and Physics*, 1 (4), 126–128.
- [5] Horadam, F. (1996). Jacobsthal Representation Numbers. *The Fibonacci Quarterly*, 34 (1), 40–45.
- [6] Singh, B., Sisodiya, K., & Ahmad, F. (2014). On the Product of k-Fibonacci Numbers and k-Lucas Numbers, *International Journal of Mathematics and Mathematical Science*, 2014, 1–4.
- [7] Jhala, D., Rathore, G. P. S., & Singh, B. (2014). Some Identities Involing Common Factors of k-Fibonacci and k-Lucas NUmbers, *American Journal of Mathematical Analysis*, 2 (3), 33–35.